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Synthetic Divison for polynomials:

A short cut method with the divisor is linear, and in the form of X — k
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Loox = & is aosolution (or ropt) of the cquation f(3) = O
2, s avero ol the function f.
ks ansintercept of the yraph ol » = fx),
4o x = ks ahetr ol f{v),

5) Use synthetic division to show that x is a solution of the third degree polynomial equation, and use the result to factor
the polynomial completely. Then, list all real solutions of the equation. —

2x° ~15x> +27x-10 = 0,x ='_;_

6) a) Verify the given factors of f(x) BITnd the remaining factors of f(x) —

use synth div.

c) use the results to write the complete factorization of f(x)  d) list all zeros of f

Function f(x)= x* —4x’ —15x° +58x—40 Fac;tors (x=5),(x+4)
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Use the Rational Root Theorem to find all zeros. Identify
each real zero as rational or irrational and each non real
zero as imaginary.

fx)=2x*—7x3 -2x* —7x -4

First list possible rational zeros:

Use synthetic division to determine TWO rational zeros (the
first one will bring polynomial to a cubic and the second one
will bring the cubic polynomial to a quadratic). Then, use
the quadratic to determine the remaining roots.
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